
第七章 副词习题 
 

Ⅰ. Fill in each of the blanks with the proper form of the word given in the 

brackets. 

1. The woman received a gold watch yesterday, but she will _______ (probable) 

refuse to accept it. 

2. They tried very hard and finally finished it __________ (success). 

3. This kind of machine is ______ (wide) used in the production. 

4. He sang _____ (bad) than any other boy in the group. His elder sister sang 

_______(well) of all. 

5. I walk _________ (slow) than my brother. 

6. I spend ______ (much) time on English than before. 

7. Which do you like ______ (well), water, tea, or milk? 

8. He was too tired to go any ______ (far). 

9. The train is running ______ and ______ (fast). 

10. Jerry can run very ____. He runs much ______ than any of us. He runs ______ in 

our class. (fast). 

Ⅱ. Choose the best answer from the four choices marked A, B, C and D. 

1. I’m ________ grateful for what you’ve done for me. 

A. deep   B. depth   C. deeply   D. deepen 

2. Liz studies ________ her sister. 

A. as hardly as   B. as hard as   C. so hardly as   D. so hard as 

3. He wasn’t _____ to understand the teacher’s questions. 



A. quick as   B. such quick   C. enough quick   D. quick enough 

4. I can’t lift the box; it’s _____ heavy. 

A. too much   B. so   C. such   D. as 

5. — _______ is it from your home to the nearest hospital? 

— About 2 kilometers. 

A. How often   B. How far   C. How long   D. How much 

6. The film is ______ worth ________. 

 A. very ... seeing      B. well ... seeing  

 C. very ... to be seen   D. too ... to see 

7. He has been doing well ________. 

 A. lately   B. latest   C. later   D. late 

8. The bathroom is ______ small. We can’t even fix a washing machine in it. 

 A. much   B. fairly   C. rather   D. quite 

9. Mrs. Jackson has received ______ that she finds it difficult to obtain a desirable 

job. 

 A. so little education     B. such little education 

 C. a so small education   D. a such little education 

10. Hold the book _______ please, for I can’t see the words ______. 

 A. closer ... clear    B. close ... clear 

 C. closer ... clearly   D. close ... clearly 

11. Mary is ________ girl to refuse. 

A. too kind   B. too kind a   C. a too kind   D. as kind as a 



12. We have done _______. 

A. more than enough   B. enough more than 

C. more enough than   D. than more enough 

13. ____________, the invention is useless. 

A. To speak practical    B. Speaking practical 

C. Practically speaking   D. In speaking practical 

14. Mr. Brown is ____________ respected by his colleague. 

A. very   B. much   C. rather   D. extreme 

15. We were discussing the problem ____________. 

A. Friendly      B. as a friend 

C. as if friends   D. in a friendly way 

16. She works very ___________. 

 A. hurry   B. quiet   C. fast   D. hardly 

17. He is ___________ to visit us if he knows where we live. 

 A. likely   B. possible   C. probable   D. necessary 

18. The ship sank ___________ under the sea. 

 A. deep   B. deeply   C. depth   D. deeper 

19. There are ___________ more people in Shanghai than in Nanjing. 

 A. a lot of   B. much   C. lot of   D. many 

20. Would you be ___________ kind as to step this way please? 

 A. as   B. very   C. so   D. too 

 


